EARAROBEEIERT — 2 N— IBISH —F

201553/17H (K) 19EAFH2H

m"fﬁ%—ﬂﬁ C3N\A ‘ [X12] # ‘ [eEmh]l  — | & (&) 16000 =
[AE4£] 17 :800,000 3 ~ 23%&:240,000  ~ 33#&:144,000 @  47#&:96,000 3 ~ 5 37 :80,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Ny 4 6 | HEARE 1:44.6 1-1-1-1 | 41.0| — 4 438 | HAR—RK (KFH)
11111 g7 56.0 (=) -7 A
L:FUr—hT7> B:T7FEN RN
- — . 76 2| — HIsFEEBA (A3)
5 3 tF+14=q4ay3 4 5 &0 1(414)8 7-7-6-6 | 40.2 6 :?(15) i
L:77NVTFT B3y "R EHBEHRS
. S t 5 | KBS 1:45.0 9-9-8-7 |40.2| — 2 438 | MAEE (KFH)
37|11 FvF-—ANILE * 5.0 M) o) |
LB ALINT Ry TR BITINLET 21— Fosiis
= s 4 5 | AHESE 1:45.0 4-4-3-3 | 40.7| - 7 516 | AZIUEESE (K3H)
417112 IL/ 77'7/ 56.0 7(£)) (+3) IS A {EE
LiFLnzwy Tt B:Hy KTy RINA fiE  EAA
SO — K 46 | AMRERR 1:45.1 14-14-14-13/ 38.9 | — 3 424 | RIURESE (KFH)
EE 4| by 7H=K 56.0 (3/8) 1) | ERERE
LI THTIA LR BANTAw1TTE— A8—=TT =L
— 4 5 | FHIHEE 1:45.2 2-2-2-2 | 41.3| — 5 478 | IBEH=EE (KH)
6814l Fr=F>Fv—~LA 54.0 (1/2) g | @ =148
R hk—Lb B:IZ—FLRU—L ESIIE &
B o7 | WHEE 1:45.4 8-7-3-4 |41.1| — 1 502 | ARIZBE (KH)
d 1 FIREAPEAN 56.0 (3/4) (6 | UA) =EmE
LT RN=—HrhU— B:RIT-—LHLs2—L NEFAIS
> = s B4 | ARER 1:46.1 3-3-3-5 |41.8| — 11 459 | BEEN (KH)
sl 5 vrM=>Ux3 54.0 @ 1/2) (va) prevkua
RYALERF -V BiALT-KTrp=— A>T FBE
— oL 8 | EWEER 1:46.1 6-6-7-8 | 41.7| — 10 | 468 | EARE (KFH)
9|8[18 7 1 7HE" 54.0 (75%) ) | ) 77— bEVI>
A2 Y E—0 B:xyOxv=A4r (B) #B—-FKL—>ya>@AqE77
PETIN BT 146. -9-11- . - A (K3)
10 10 Fy Tyt 4 4 54% 1(14/62)2 10-9-11-11 | 41.2 14 (4+120) 7JL\$'A‘7M1
XM= TR—L BHIYT7N—I biAcse
NN » HEIGIhE : -13-12- - ZILESE (KH)
lslgl7ovgLya— it 4 o 1.?16>.4 13-13-12-12| 411 13 g) Pl
LT RIAY KL Bik—vwivUlLaa U5 &
4 9 | FHEE 1:46.6 1-11-9-10 | 41.8 | — 9 414 | BRERGA (KFH)
12|67 | V7 AER 56.0 1 5 |TEERE
R:T7RIA VKR BARILT—IR B\ -
3 t 4 | REREE 1:47.4 12-12-13-13| 41.8 | — 12 447 | HAR—K (KH)
13 2| F—TLA2R 54.0 @ o |BEH#EE
LX:A—-I>F)> B:¥x—-s0-1)— =Y
- )3 147, —5-9- . — JEFEH (/)\HEK)
WMol n=—vy2o0 R e | T Pl | meEm
R:N—Y97514 B:HVET 1%k Sk
® 1—F—@EBIERL
13=2F= 1,14,5,12,9,13,3,6,11,10,7,2,8,4
2o=5"= 1,14,5,12,9,13,(3,6),(10,11),7,2,8,4
Ja=5= 1,14,(5,6,12),3,13,11,(7,9),10,8,2,4
40—+ — 1,14,12,6,5,3,11,13,9,7,10,8, (2,4)
[ N5
B 1 960H 714K 1-3 1,240H e E 1-3 2,190M JEE 1-3-11 6,740/
B B 1 290H 1-11 700M e B 1-3 5,310H EH 1=8=11 51,980
3 340H 3-11 560M B & 1-3 5,130M
1 190 B HE 1=8 11,150

ABICOVWTRDTEEERROODE. TR LIV,




